Obliczenia ilosci powietrza wentylacyjnego
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o |1 |SaR 526,11 | 750 | 2 2 | - - | 7900 | 7900 | Naw-3 | Wyw-3
gimnastyczna
0 | 2 | Komunikacja 86,86 3,05 15 1,3 - - 400 350 | Naw-1 | Wyw-1
o | 3 | Salado zaje¢ 4320 | 305 | 4 4 | - - | 530 | 530 | Naw-1 | Wyw-1
korekcyjnych
0 | 4 | Pielegniarka 16,65 3,05 2 2 - - 100 100 | Naw-1 | Wyw-1
0 | 5 | Stomatolog 17,28 3,05 2 2 - - 100 100 | Naw-1 | Wyw-1
0 | 6 | Archiwum 16,35 3,05 1 1 - - 50 50 Naw-1 | Wyw-1
0] 7 |WC 5,05 3,05 - - - - - 50 - Wyw-2
0 | 8 | Magazyn 33,01 3,05 1 1 - - 100 100 | Naw-1 | Wyw-1
0 | 9 | Szatnia 18,57 3,05 8 7 - - 450 400 | Naw-1 | Wyw-1
0 | 10 | Przedsionek 6,10 3,05 7 - - - 130 - Naw-1 -
0 | 11 | Natryski 8,44 3,05 - 5 - - - 130 - Wyw-2
0 |12 | WC 3,90 3,05 - - - - - 50 - Wyw-2
0 | 13 | Szatnia 18,57 3,05 8 7 - - 450 400 | Naw-1 | Wyw-1
0 | 14 | Przedsionek 6,10 3,05 7 - - - 130 - Naw-1 -
0 |15 | WC 3,90 3,05 - - - - - 50 - Wyw-2
0 | 16 | Natryski 8,44 3,05 - 5 - - - 130 - Wyw-2
0 | 17 | Szatnia 18,41 3,05 8 7 - - 450 400 | Naw-1 | Wyw-1
0 | 18 | Przedsionek 6,10 3,05 7 - - - 130 - Naw-1 -
0 | 19 | Natryski 8,44 3,05 - 5 - - - 130 - Wyw-2
0 |20 | WC 3,90 3,05 - - - - - 50 - Wyw-2
0 | 21 | Wiatrotap 5,00 3,05 - - - - - - - -
0 |22 | POKY 812 | 305 | 5 | - | -| - | 130 | - |Naw1l| -
nauczyciela W-F
0 | 23 | Natrysk 5,14 3,05 - - - - - 80 - Wyw-2
0 |24 | WC 1,34 3,05 - - - - - 50 - Wyw-2
0 | 25 | Magazyn sprzetu | 5767 | 305 | 1 1| - - 80 | 80 | Naw-1 | Wyw-1
sportowego
0 | 26 | POokoj admin. 855 | 305 | 5 -] - - 130 | - | Naw-l| -
orlika
0 | 27 | Natrysk 4,93 3,05 - - - - - 80 - Wyw-2
0 | 28 | WC 1,34 3,05 - - - - - 50 - Wyw-2
0 | 29 | Wiatrotap 40,40 3,05 - - - - - - - -




